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Betterment vs. Maintenance Decision Tree

A

Does the material cost
incurred meet the
capitalization threshold
of the asset class to
which it relates to? See

Appendix A

Yes

v

Example:
Asset is restored to its

original condition where
capacity for generating
output was not improved,
only to maintain existing
service potential.

Is there an increase in
the previously
assessed physical
output or service

Example:
An asset that is replaced

with a similar component
but does not meet criteria
of betterment and the
capitalization threshold of
the related asset.

Example:

An asset that is repaired
so that it can be used to
realize the benefits
originally projected.

Example:

An asset that is restored
to its original condition
where the quality of the
output has not improved
(e.g. a black and white
photocopier repaired to
its original condition
versus enhanced to
colour photocopier).
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Are there significantly
lower associated
operating costs
(efficiency)?
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Is the original useful life
of the asset extended?
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Is the quality of the
output improved?
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